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Q:-Z.x+)1(= 3,then the value of x'% + x1% + x® + 1is:

(A)]
(B)2
(C)0
(D)-1
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Q:-3 . x +_ =V3,thenthe value of x** + x** + x%¢ + x°°
+ x2% +x18 +x12 4+ x0 + 1is

(A)]
(B)2
(C)0
(D)-1
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Q:4. (x + £)?=3, then the value of x206 4 x200 4 x90 4 8% 4 18 4 x12 4
x°+1is

(A)]
(B)2
(C)0
(D)-1



Q:-5. (x + )1( )2=3, ,then the value of x7? + x°¢ + x>* + x36 + x%* +
x%+1 is

(A)1
(B)84
(C)0
(D)206
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Q:-6.x + —= 3,then the value of 1+ x° + x1% + x18 + x2% +...... ... 4

114 ;
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Q:-7. x* + xiz =1, then the value of x!8 + x1% + x® + 1 is :
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(A)]
(B)2
(C)0
(D)-1



Q:-. If x +§ =-2 then what is the value of 1+ x3 + x°?

(A)O
(B)1
(C)2
(D)-1



Q:-HW. If x-y =3, then what is the value of x3-y3- 9xy?
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(A)3
(B)S
(C)18
(D)27






